

UNIT - IIK. ARUL SELVAN  
9003856149Particular Integral of second order Differential  
Equations with constant co-efficientsTYPE

- 1)  $(a_0D^2 + a_1D + a_2)y = 0$
- 2)  $(a_0D^2 + a_1D + a_2)y = e^{ax}$
- 3)  $(a_0D^2 + a_1D + a_2)y = \sin ax \text{ or } \cos ax$
- 4)  $(a_0D^2 + a_1D + a_2)y = x^n$
- 5)  $(a_0D^2 + a_1D + a_2)y = e^{ax} \cdot f(x)$
- 6)  $(a_0D^2 + a_1D + a_2)y = x^n \sin ax \text{ or } x^n \cdot \cos ax$

S.No	Roots	Complementary function
1)	$m_1 = m_2$	$(Ax + B)e^{m_1x}$
2)	$m_1 \neq m_2$	$Ae^{m_1x} + Be^{m_2x}$
3)	$m_1 = \alpha \pm i\beta$	$e^{\alpha x} [A \cos \beta x + B \sin \beta x]$

Note

P.I - Particular Integral

C.F - Complementary function

A.E - Auxiliary Equation.

1) Solve  $(D^2 + 2D + 2)y = 0$

Sol

A.E is,  $D = m,$

$$m^2 + 2m + 2 = 0$$

$a=1, b=2, c=2$

$$m = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} = \frac{-2 \pm \sqrt{4 - 4(1)(2)}}{2(1)}$$

$$= \frac{-2 \pm \sqrt{4 - 8}}{2}$$

$$= \frac{-2 \pm \sqrt{-4}}{2}$$

$$= \frac{-2 \pm \sqrt{2}i}{2} \quad (i^2 = -1)$$

$$= \frac{-2 \pm 2i}{2} = -1 \pm i$$

$$m = -1 \pm i \Rightarrow \alpha = -1, \beta = 1$$

$$\therefore \text{C.F} = e^{-x} [A \cos x + B \sin x]$$

— x —

Solve:  $(D+6D+8)y = e$

Sol

A.E is,

put  $D = m$ ,

$$m^2 + 6m + 8 = 0$$

$$\frac{4}{8} \times \frac{6}{2}$$

$$(m+4)(m+2) = 0$$

$m+4 = 0$	$ $	$m+2 = 0$
$m = -4$	$ $	$m = -2$

$\therefore m_1 \neq m_2$

$\therefore$  C.F =  $A e^{-4x} + B e^{-2x}$

To find P-I

$$P-I = \frac{1}{D^2 + 6D + 8} \cdot e^{-2x}$$

put  $D = -2$ ,

$$= \frac{e^{-2x}}{(-2)^2 + 6(-2) + 8}$$

$$= \frac{e^{-2x}}{4 - 12 + 8}$$

$$= \frac{e^{-2x}}{0}$$

$$\Rightarrow \frac{x}{2D + 6} \cdot e^{-2x}$$

(put  $D = -2$ )

$$= \frac{x \cdot e^{-2x}}{2(-2) + 6}$$

$$= \frac{x \cdot e^{-2x}}{-4+6}$$

$$\boxed{P.I = \frac{x \cdot e^{-2x}}{2}}$$

∴ The General solution,

$$y = C.F + P.I$$

$$\boxed{y = Ae^{-4x} + Be^{-2x} + \frac{x}{2} \cdot e^{-2x}}$$

— + —

③ olve  
 $(D^2 + 3D + 2)y = \sin 3x$

sol  
 G.F,  $(D^2 + 3D + 2)y = \sin 3x$

A.E is,

$$m^2 + 3m + 2 = 0$$

$$\begin{array}{r} 3 \\ 1 \times 2 \\ \hline 2 \end{array}$$

$$(m+1)(m+2) = 0$$

$$\begin{array}{l|l} m+1=0 & m+2=0 \\ m=-1 & m=-2 \end{array}$$

$$\therefore \boxed{m_1 \neq m_2}$$

$$\boxed{C.F = Ae^{-x} + B \cdot e^{-2x}}$$

To find P.I

$$P.I = \frac{1}{D^2 + 3D + 2} \cdot \sin 3x$$

$$(put D^2 = -3^2)$$

$$= \frac{1}{-9 + 3D + 2} \cdot \sin 3x$$

$$= \frac{1}{3D-7} \sin 3x$$

$$= \frac{1}{3D-7} \times \frac{3D+7}{3D+7} \sin 3x$$

$$= \frac{3D+7}{(3D)^2 - 7^2} \sin 3x$$

$$(a+b)(a-b) = a^2 - b^2$$

$$= \frac{3D+7}{9D^2 - 49} \sin 3x$$

(Put  $D^2 = -3^2$ )

$$= \frac{3D+7}{9(-9) - 49} \sin 3x$$

$$= \frac{3D+7}{-81 - 49} \sin 3x$$

$$= \frac{3D+7}{-130} \sin 3x$$

$$= \frac{-1}{130} [3D[\sin 3x] + 7 \sin 3x]$$

$$= \frac{-1}{130} [3 \times 3 \times \cos 3x + 7 \sin 3x]$$

$$P.I = \frac{-1}{130} [9 \cos 3x + 7 \sin 3x]$$

$$\therefore y = C.F + P.I$$

$$\Rightarrow y = A e^{-x} + B e^{-2x} - \frac{[9 \cos 3x + 7 \sin 3x]}{130}$$



$$(D^2 + 5D + 4)y = x^2 + 7x + 9$$

(6)

sol

A.E becomes,

$$m^2 + 5m + 4 = 0$$

$$\begin{array}{r} 4 \overline{) 5} \\ \underline{4} \phantom{0} \\ 1 \phantom{0} \\ \underline{4} \\ 0 \end{array}$$

$$(m+4)(m+1) = 0$$

$$\begin{array}{l|l} m+4=0 & m+1=0 \\ m=-4 & m=-1 \end{array}$$

$$- \boxed{m_1 \neq m_2}$$

$$\boxed{C.F = Ae^{-4x} + Be^{-x}}$$

To find P.I

$$P.I = \frac{1}{D^2 + 5D + 4} \cdot (x^2 + 7x + 9)$$

$$= \frac{1}{4 \left[ 1 + \frac{D^2 + 5D}{4} \right]} \cdot (x^2 + 7x + 9)$$

$$= \frac{1}{4} \times \left[ 1 + \left( \frac{D^2 + 5D}{4} \right) \right]^{-1} (x^2 + 7x + 9)$$

$$\left[ \because (1+x)^{-1} \right]$$

$$(1+x)^{-1} = 1 - x + x^2 - \dots$$

$$f = x^2 + 7x + 9$$

$$D(f) = f' = 2x + 7$$

$$D^2(f) = f'' = 2$$

$$D^3(f) = f''' = 0$$

$$\left\{ 1 - \left( \frac{D^2+5D}{4} \right) + \left( \frac{D^2+5D}{4} \right)^2 - \dots \right\} (x^2+7x+9) \quad (5)$$

$$= \frac{1}{4} \left\{ 1 - \left( \frac{D^2+5D}{4} \right) + \left[ \frac{D^4+25D^2+10D^3}{16} \right] \right\} (x^2+7x+9)$$

$$= \frac{1}{4} \left\{ 1 - \left( \frac{D^2+5D}{4} \right) + \left( \frac{25D^2}{16} \right) \right\} (x^2+7x+9) \quad \left[ \text{omit } D^3, D^4 \right]$$

$$= \frac{1}{4} \left\{ (x^2+7x+9) - \frac{1}{4} \left[ D^2(x^2+7x+9) + 5D(x^2+7x+9) \right] + \frac{25}{16} D^2(x^2+7x+9) \right\}$$

$$= \frac{1}{4} \left\{ x^2+7x+9 - \frac{1}{4} \left[ (2) + 5(2x+7) \right] + \frac{25}{16} (25) \right\}$$

$$= \frac{1}{4} \left\{ x^2+7x+9 - \frac{2}{4} - \frac{5(2x+7)}{4} + \frac{25}{8} \right\}$$

$$= \frac{1}{4} \left\{ x^2+7x+9 - \frac{x}{2} - \frac{10x}{4} - \frac{35}{4} + \frac{25}{8} \right\}$$

$$= \frac{1}{4} \left\{ x^2 + \left( 7 - \frac{5}{2} \right) x + 9 - \frac{1}{2} - \frac{35}{4} + \frac{25}{8} \right\}$$

$$= \frac{1}{4} \left\{ x^2 + \left( \frac{14-5}{2} \right) x + \frac{72-4-70+25}{8} \right\}$$

$$\boxed{P.I = \frac{1}{4} \left\{ x^2 + \frac{9}{2}x + \frac{23}{8} \right\}}$$

$$I = C.F + P.I$$

$$\boxed{I = A \cdot e^{-x} + B \cdot e^{-4x} + \frac{1}{4} \left\{ x^2 + \frac{9}{2}x + \frac{23}{8} \right\}}$$